
 

 

  الإمتحان التكميلي  التوجيهي(   -نموذج تجريبي شامل )لطلبة الثانوية العامة 
 مدة الامتحان :ساعتان             المبحث : اللغة الانجليزية                    رمز المبحث:              

 اليوم والتاريخ:                    ) ( 2:    جميع الفروع الأكاديمية                       رقم النموذج الفرع:

 اسم الطالب:                                                                            رقم الجلوس:

بشكل غامق الدائرة التي تشير إلى رمز الإجابة ) ورقة القارىء الضوئي( فهو اختر رمز الإجابة الصحيحة في كل فقرة مما يأتي// ثم ظلل 

 (.5( وعدد الصفحات )40النموذج المعتمد )فقط( لإحتساب علامتك,علما بأن عدد الفقرات )

READING: For questions (1 - 10), read the following texts carefully, and then choose the 

correct answer from A, B, C or D to complete the sentence below each text.  
1) It’s normal to feel a bit blue from time to time. However, studies show that negative emotions 

can harm the body. Anger can also have harmful effects on health. When you see red, your blood 

pressure is raised and you can suffer from headaches, sleep problems and digestive problems.  

The underlined colour idiom means ……………….. . 

A.    permission         B.      anger        C.     effort       D.    sadness  

2) Scientists have already developed brain implants that improve vision or allow disabled people 

to use their thoughts in order to control prosthetic limbs like arms, legs or hands, or operate a 

wheelchair. They  hope to develop a similar device to help people who have been affected by brain 

damage, which could be caused by dementia, a stroke or other brain injuries. 

The factors that may cause brain damage are …………………………………. .  

              A.   arms and legs                                      B.   dementia and a stroke 

              C.   hands or operate a wheelchair.           D.   improve vision or allow disabled people 

3) In many countries, an increasing number of young people and adults are overweight or even 

obese. One reason for this is the growing popularity of fast food, which didn’t use to be as common 

as it is now. Another big factor is lack of exercise. People would often walk to school or work, but 

these days many more of us drive. Modern technology has also played its part; we spend more and 

more time focusing on computer screens. Before the Internet was invented, nobody had dreamt of 

online shopping, but now we can buy almost anything without leaving the sofa.                                            

Two reasons for higher rates of obesity are……………….. . 

          A. overweight or even obese                                     B.   people and adults 

          C. young people and Modern technology                 D.   fast food and lack of exercise 

4) Adeeb is going to visit the USA, France, the UK, Ireland, Belgium, Italy and Germany, where 

he will be staying with relatives. However, while he is in Germany, Adeeb will not be spending all 

his time sightseeing. He will be working with a specialist doctor to build the appendage. He will 

also be attending a course on prosthetics and learning about different kinds of medical apparatus. 

Who will Adeeb be staying with………………………….... . 

A.  Germany             B.   relatives         C.   France          D.  doctor   

5) According to a study carried out by Pennsylvania State University, USA, multilingual people 

are able to switch between two systems of speech, writing, and structure quite easily. It has been 

proved that they are also able to switch easily between completely different tasks. 

The underlined word “they” refers to ……………. 

A.   multilingual people       B.  people         C.  systems       D.   Pennsylvania State University 
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6) Megaprojects are extremely large investment projects, which are designed to encourage 

economic growth and bring new benefits to cities. Although megaprojects vary in terms of size and 

cost, they are all, by definition, expensive, public projects that attract a high level of interest and 

media coverage. Projects range from motorways, airports ……………….etc. 

There are many benefits of creation Masdar City .Mention two of them ………………. . 

A. size and cost           B. designed to encourage economic growth and bring new benefits to cities. 

C. expensive, public   D. motorways and airports.    

7) In England, almost 50% of school leavers go on to higher education. The figure has not always 

been as high as this. Twenty years ago, it was closer to 30%, and thirty years before that, it was 

only about 5%. Another huge change has been financial.  

The least percentage of School leavers who go to higher education in over the past was ….. .  

A. 20%             B. 5%.        C.   50%        D. 30%  

8) The Arab world has many famous chemists in its history, but the person who is known as the 

founder of chemistry is probably Jabir ibn Hayyan. He is most well-known for the beginning of the 

production of sulphuric acid. He also built a set of scales which changed the way in which chemists 

weighed items in a laboratory: his scales could weigh items over 6,000 times smaller than a 

kilogram. 

What is so special about Jabir ibn Hayyan’s scales ………………….. . 

  A. He also built a set of scales.             

  B.  He is most well-known for the beginning of the production of sulphuric acid 

  C. The founder of chemistry.                            

  D. His scales could weigh items over 6,000 times smaller than a kilogram. 

9) Now let’s look at imports. Unlike some other countries in the Middle East, Jordan does not have 

large oil or gas reserves. For that reason, Jordan has to import oil and gas for its energy need. Its 

other main imports are cars, medicines and wheat. In 2013 CE, 23.6% of Jordan’s imports were 

from Saudi Arabia. This was followed by the EU, with 17.6% of its imports. Other imports have 

come from China and the United States. 

Jordan depends on many countries to import their goods. Two of these goods are ……. . 

A. China and the United States.                                        B. medicines and wheat 

                C. Unlike some other countries in the Middle East          D. Saudi Arabia and the EU 

10) In the 1940s, technology had developed enough for inventors to make the first generation of 

modern computers. One such model was so large that it needed a room that was 167 square metres 

to accommodate it. During that decade, scientists in England developed the first computer program. 

It took 25 minutes to complete one calculation. In 1958 CE, the computer chip was developed. 

The thing that help inventors to make the first generation of modern computers was……… . 

A. the development of technology.               B. computer program.   

C. calculation.                                               D. computer chip 

SEE PAGE THREE… 
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VOCABULARY: For questions (11 – 20), choose the correct answer from A, B, C or D to 

complete each of the following sentences.   

11. If you have a migraine the best thing to do is take some ………...….and rest somewhere quiet.                                  

A.    coma        B.    symptoms         C.  qualification           D.    medicine 

12. You can wear your watch when you go swimming if it’s waterproof. The underlined suffix 

means……….…. . 

A.   tiny             B.     against                C.   chins              D.   risk 

13. Wind farms are an example of ………………………energy. 

A. renewable             B.  polymath            C.  diet             D. dehydration  

14. Nasser has applied to ……………….the company where his father works.  

A.   make             B.   attend              C.   join              D.     legacy 

15. ……...…..is the study, evaluation, and interpretation of literature, artwork and social trends. 

A.   criticise           B.   criticism          C.    critic          D.   critically 

16. There isn’t as much………………..…… information on the website as in the book.  

A.   educate       B.    education        C.   educational           D.  educationally 

17. In our exam, we had to ………………………………….a text from Arabic into English. 

A.     translation         B.    translate         C.     translated          D.   translator 

18. Markets have different kinds of food which are ……………. prepared from animal product. 

A.   attract          B.    attractive            C.   attraction            D.   attractively 

19. Samia’s ……………….. indicates the she has the needed experience for the required job.  

A.   track record           B.   reputation             C.    arithmetic            D.    urban planning 

20. As a result of using social media, students can ………….information and help each other with 

tasks.  

A.   contribute          B.   share             C.    develop         D.    create 

GRAMMAR: For questions (21-37), choose the correct answer from A, B, C or D.  

21. Faisal and Talal ………………………. at that company for two years before they established 

their own company. 

A. have been working       B.   has been working       C.   was working         D.  had been working 

22. By the end of this semester Majed …………………………… from the university. 

A. will have graduated      B. will graduate     C.  is going to graduate      D. will be graduating  

23. If I …………………..….………you, I would follow the instruction. 

A.   am           B.    was            C.    had been            D.    were  

24. All the members of the Teachers’ Syndicate ……….………by the teachers four years ago. 

A.    has been  elected         B.     was elected          C.     were elected           D.    are elected  

SEE PAGE FOUR …. 
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25. Hani and Adam are used to …………….…………. in the river.                                    

A.   swimming           B.    swam            C.   swum               D.   swim 

26. My sister is really good……………… drawing and painting.  

A.    into           B.      of             C.       at            D.      about  

27. . …………………………………. growing subject in the world is Computer Science. 

A.    the most           B.    the less       C.     more than          D.     many  

28. Unfortunately, the umbrella ……………… Laila’s bought last week is already broken. 

A.    where             B.   which             C.   when            D.    who  

29. The children …………………….. their homework when their teacher arrived. 

A.   was doing        B.    are doing         C.   have been done         D.    were doing 

30. Neither tennis nor handball is as popular as football. This means ………………….  . 

A. Tennis and handball are more popular than football.       

B. Football is less popular than tennis and handball. 

C. Football isn’t as popular as tennis and handball.   

D. Football is more popular than tennis and handball. 

31. How much revision should I do?  

The correct indirect question is ………………………. . 

A. Could you tell me how much revision I do should? 

B. Could you tell me how much revision I do? 

C. Could you tell me how much revision I should do? 

D. Could you tell me how much revision I did? 

32. People claim that money makes us happy. 

- The sentence which has a similar meaning to the one above is:  
  A. Money are claimed to makes us happy.                   B. Money is claimed to make us happy. 

  C. Money is claimed to happy make us.                       D. Money was claimed to make us happy. 

33. It was too hot to go to the beach yesterday. This means…………………… . 

  A. I wish it had been cooler.                                   B. I wish it had been hotter. 

  C. I wish it has been cooler.                                    D. I wish it hadn’t been cooler. 

34. Jabir ibn Hayyan invented ink that can be read in the dark. 

The correct cleft sentence is …………………………….. . 

A. The thing where Jabir ibn Hayyan invented that ink can be read in the dark. 

B. The thing that invented ink that can be read in the dark was Jabir ibn Hayyan. 

C. The thing that Jabir ibn Hayyan invented was ink that can be read in the dark. 

D. The thing who Jabir ibn Hayyan invented was ink that can be read in the dark. 

35. I didn’t fix my car myself. 

The correct causative form is ……………………… . 

A. I hadn’t my car fixed.                              B. I have my car fixed. 

C. my car wasn’t fixed.                                D. I had my car fixed. 

SEE PAGE FIVE ……… 
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36. It is customary for Majed to drink coffee. 

A. Majed isn’t used to drinking coffee.                B. Majed is use to drinking coffee.    

C. Majed is used to drinking coffee.                     D. Majed used to drink coffee.    

37. The cheapest drink in the menu is orange juice. This means ……………………….. . 

A. The least expensive drink in the menu is orange juice. 

B. Orange juice is less expensive than apple juice. 

C. Orange juice is more expensive than apple juice. 

D. The most expensive drink in the menu is orange juice. 

 

WRITING: For questions (38 - 43), choose the correct answer from A, B, C or D.  

38.  ……………..the recent advances in technology, it is still unreliable and very inconvenient. 

A.   Despite        B.  On the other hand        C.    Whereas         D.  However  

39. The world will be at your fingertips. 

The sentence above indicates …………………………..………… . 

A. Simile        B.  Metaphor       C.  Onomatopoeia       D.  Personification 

40. Eating well is important for good health. Furthermore, it helps to make you more active. 

What is the function of using Furthermore in the above sentence?                       . 

A. giving advice       B.  Contradictory      C.  Opposition       D.  Addition  

 

41. Critics used to say that there was no scientific evidence that non- ………………..treatments 

actually worked. 

A.    conventional      B.    convintional       C.    konventional      D.   convenshional  

 
42. What illnesses are children in Jordan vaccinated against…………… 

 

A.     !         B.       ?          C.        ,             D.     : 

 

43. At the end of paragraph you should …………….  . 

A.  cover one main idea or topic. 

B.  introduce  the  topic. 

C.  explain your ideas in more detail. 

D.  summarise and conclude your ideas. 

THE END 
Best wishes 

RAE’D AL-NATOOR 



 

 

 (2الاجابة النموذجية )

1.   a.  b. c. d. 

2.   a.  b. c. d. 

3.   a.  b. c. d. 

4.   a.  b. c. d. 

5.   a.  b. c. d. 

6.   a.  b. c. d. 

7.   a.  b. c. d. 

8.   a.  b. c. d. 

9.   a.  b. c. d. 

10.   a.  b. c. d. 

11.   a.  b. c. d. 

12.  a.  b. c. d. 

13.   a.  b. c. d. 

14.   a.  b. c. d. 

15.   a.  b. c. d. 

16.   a.  b. c. d. 

17.   a.  b. c. d. 

18.   a.  b. c. d. 

19.   a.  b. c. d. 

20.   a.  b. c. d. 

21.   a.  b. c. d. 

22.   a.  b. c. d. 

23.   a.  b. c. d. 

24.   a.  b. c. d. 

25.   a.  b. c. d. 

26.   a.  b. c. d. 

27.   a.  b. c. d. 

28.   a.  b. c. d. 

29.   a.  b. c. d. 

30.   a.  b. c. d. 

31.   a.  b. c. d. 

32.   a.  b. c. d. 

33.   a.  b. c. d. 

34.   a.  b. c. d. 

35.   a.  b. c. d. 

36.   a.  b. c. d. 

37.   a.  b. c. d. 

38.   a.  b. c. d. 

39.   a.  b. c. d. 

40.  a.  b. c. d. 

41.  a.  b. c. d. 

42.  a.  b. c. d. 

43.  a.  b. c. d. 

 
 

 


